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Who Owns the Fish?

The Brit lives in the red house. P&l m m m m m
The Swede keeps dogs as pets. B

The Dane- drinks tea. I I I I I
The green house. is on the left of the white house.

The green house's owner drinks coffee.

The person who smokes Pall MaII rears irds.

The owner of the yellow house $mokes unhill.

The man living in the center house drin milk.

The Norwegian lives in the first house. ’

The man who smokes Blends lives next to the ene-w hokeeps cats.

The man who keeps the horse lives next to the man who-s mokes‘unhlll.
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The owner who smokes Bluemasters drlnks beer.
The German s '
The Norwegia

15. - The man who
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Constrained Programming —
An Archeological Puzzle
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Constrained Programming —
An Archeological Puzzle
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Who Owns the Fish?

The Brit lives in the red house. B ) ) l )
The Swede keeps dogs as pets. & I I I I I

The Dane- drinks tea.

The green house. is on the left of the white house.

The green house's owner drinks coffee.

The person who smokes Pall Mall rears Irds.

The owner of the yellow house $mokes unhill.

The man living in the center house drint milk.

The Norwegian lives in the first house. ’

The man who smokes Blends lives next to the ene-w hokeeps cats.

The man who keeps the horse lives next to the man who-s mokes bunhill.

The owner who smokes Bluemasters drlnks beer.

126 German s ~ D
e Norwegia

15. - The man who r who drinks water.
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Constraint Programming

Model a combinatorial problem through
— Variables X with Domains D(X)
— Constraints..._

DIX) DO

Constraint LConstraint
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Thank you!




